Al HT = A T (S

MHEER AR)

1] 71238 &

L] AR

31 A AFAGEHES] A
A7) 7k Oedguk ARl Z17F 2019.01 ~ 2022.12
Aol & O FAU Y FeHC 25 A olze] sf4E 93 AZ2=ZE F7}
BHS 47
A1 $1A] A5 A ZAY R diHC
£ A % 31.341,00049 () (A1)31,341.00049
g (@4 9) () 71eN
Apedu] 3.000,0004¢ (1) (4181)3.,000,0004%)
(G x) g (@4 9) () 1eN
(] AFY EHEEX}
T A 7 EE T
REE 4 7T
Z 3 A) o 37 o
e =2 A 2133-8060 8081 8082
A3 BAYS A 7202 5] BARAY B2 & g,
2 o AF M o
A} =Dt
aliads (9] - A, %)
7 2018614 (A) | 201964+ (B) Zz7+ (B-A)
(B-A)*100/A
A (x-) (x-) (x-) (x-)
0 3,000,000 3,000,000 0
A A (x-) (x-) (x-) (x-)
0 2.700.000 2.700.000 0
(x-) (x-) (x-) (x-)
el 0 300,000 300,000 0




HESE 20194 ¢l
A 0 A - 9.700.00049
2 9.700.000.0009
. o Zelu) - 3000004
el 300.000.000%

O] el SXPHE (ERIAIZE] ) el ¢ )

T o2 A (le6?7> 2018 2019 | 2020 ¢l% | uz:
A (x-) (x-) (x-) (x-) (x-)
31,341 3,000 28,341
A A (x-) (x-) (x-) (x-) (x-)
29,001 2,700 26,301
el (x-) (x-) (x-) (x-) (x-)
2,340 300 2,040

3| AP & 9

O Al
O +HIUE AN dHC & A7 4=
A 3L
(1 A2 A
O EZ¥ A|31%,

2 7 AeALA ] 71

29 AL 2 ol goll B

O A4 Aoda I=C AZAA M A4 —-—Z‘l AL (77 8,
'15.7.10.)
L] AIELEE
o 4 A F AW @i IC
o Tt E D QEAUA W AR 7 A4
- A ARRE F 1R, A% L=124m

O A7 1 2014. 19 ~ 2020. 129
O AHWHE @ AEAIJIA W AHE F7F A4
O ZAPH] : 46,727k
(1 A A& (FXEAIE S H)
O F3+ A gk IC
O JIEAIQIA W AA=Z F7F AA 1704



o HFHC AAAA A4

4

O

Ok
R0

Kl
_xT

<

—

O

0’15.07.10

0’15.9.
0’'16.2.
0’'16.6.
0’17.8.
0’18.1.

L EAAAH(EAY)

AR 1|

IAAA o B AAHEAR)

Z) e

D AAAA TA 8l 71 EAAA L (

0’'18.4.25.~7.25.

G
e

-z

oF
n

RO
ofl
_xT
L4

Y|

Lz

[]1 2019

O
AP
~
e =
= Ho
S ,
Mo
N~ ~
yl=t
3
=X
or
=
o o
1 S S
gl S <
== (@) (e}
30° =) =)
~E < <
= lap) s}
B
™~
—
D
R =
~— (@]
) 2
S [e'e]
N~ <
o
—
o
N
~
M Ho
X = | A
N X
B Mo
=

a}

k=1

Al &

4

¢
N
oz
)

T
3 <
oo | ~ |
.| ook =
.
= N EL
o 7|
do <R ma
X

.mw o .‘WM‘_
| =
do | T | N
- ey

— 0 40
x|
= | B A
=LA N B!
W
A )
™ | o | w
~ | T | N
o]l o | o
1 it 1
— — —
(@} (@) (@)
N N N

~H



zZ 32 5

O F4ddx G=tIC AZAA MAA 7 E4A =4

Bl remi by B4 -.u._.m

[ T ].uu.«ﬂrl_- m
LAt Rr i |

¥ | 3

1 I

=
-
=

1§




